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6. In this chain and sprocket system, the rotational speed of the driver sprocket is 120 revolutions per
minute. 12 teeth 16 teeth

Based on the information provided by the T —
illustration, calculate the rotational speed of the

other sprocket. (2)

30 MANSSk & W o S < S— 0, R

a) First find the gear ratio. b) Calculate the revolutions per minute.

nr_j/_f/ =i2_3_0o75 0.-75x120 = 30 rpm

7. Indicate the direction of the friction gears with an arrow \7 {2)

8. In the gear train system below, first gear “A” rotates at a rate of 40 rpm. (4)
a) Determine the rate of rotation of gear “B” using the gear ratio.

dover 1y 9 -

cnven 7

Q.NX RKV = %@ P

b) How many teeth would a 3 gear have, if it is to rotate at a 1/6 the speed of gear B?

2 b = 2 et

9. Determine the degrees of freedom do the following items have and give the symbols.
(normal use is assumed) (4)

a) the puck in air hockey b) plane c) hot air balloon d) elevator
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